
From the library of: Superior Sewing Machine & Supply LLC

@
 

.. (!) 
0 
·-> (!) 
c 0

)
 

s:: 
·-- 0 (!) 
...... 
(!) 
c ...... 
s:: :J 
0 
E

 
<

( 
C

) 
s:: 
s:: 
·a; E

 
(I) 

a:. -g :tl' 
(I) 

c 
L

.. 
.tK

 
.t:ts 
~ ml~ 
·-
~
 

.
.
c
~
 

..c .... <f!.. 
o

""' 
m

JL
 

M
 

0 
0 

0 
M

'
 

l.t)c
.o

 
~
C
D
 

M
M

 
en,... 
N

 
• 

0 
z 

-

,--------------
: 

~-~t ~ 
I 

if-
C

') 

: 
C

') 
_/l 

<
t 

l[) 
O

l 
O

l 

irl-·~, 
;1 

I 
;;; 

0 
\'~ L 

I 
C

') 
~
 

o 

: 
~--~~ ~ 

I 
<

t 

: 
--~-~C') 

( 

I 
C\1 

<
t
l
[
)
 

m
 

c
o

)
, 

I 
C

') 
C

') 
C

') 
C\1 

C
') 

: rl--
~~-!n ~

/
 

I 
~
 

~-
1 

~
 

I 
I 

C
') 

~
 

I 

: 
~-~~ ~ 

\ 
I 

r
~
 

!
j
u
~
 

\ 
:;; 

-0) 
\ \ \ \ \ \ 

<
t 

\ 

C
') 

\ 

. 
_

\-

~
 

0 
C\1 

C\1 
\ 

~
 

\ \ \ \..._ 

-
\ 

l[) 

0 
C\1 

~~\ 
~~---

·······-, ~--0) 
(~ \ 

16-~1:2 
I 

\ ~~ 
I 

I 
-
\
 

\ ~ 
l[) 

, 
o
~
 

1 ~ 
tf1 

r
-

" 
' 

~----, 
) 

C
\
1

-
;
 Ill 

I 
\
\
 

\ 

I 
• 

. 
\
\
\
 

\ 
L _

_
_

_
 
l
'
 

,
.
 

Ji 
( 

\\ 
\ 

'\-

• 
,, 

\ 
. 

\ 

I 
a
/
\
\
\
\
\
~
 

w
;l 

I 
~ 

M
\
 

,
,
 

I 
I'\ ~
 

-
\\ 

!J 
m

 
I 

I 
\ 

\ 
\
\
 

~ 
I 

§! 
I 

' · 
. 
-
·
 _

_
_

_
 -
-
-
-
\
 

\ 
\
\
 

I 
((! / ~\-···· ~ 

\ \ ~)v 
1 
I
\
 

a
\
\
 

, 
I 

I 
I
\
 

\
\
I
 

L
_

/ 
I 

o 
a 

\ 
\ 

( 

I 
\ 

\ 
I 

o 
\ 

\
\
 

I 
\ 

\
\
I
t
 

1 
' 

'v
 

\ 
\ 

-
-

1 
\ 

-
I 

\ 
I 

\ 

( 
\ 

\ 
\ 

\ 
\ 

\ 
I 

\ 
I 

\ 
I 

\\ 
I 

\ 
I 

\ \ 
m

--' 
I 

-
\ 

I 
\ \ 

-
-
-

\ 
-
-
-

-
-

\ 
-
-
-
-
-
-

\ ______ _ 

<D
--fi 

~
4
 



From the library of: Superior Sewing Machine & Supply LLC

!<F;F', ~0- __ NQTE: ____ P!_IR_T_N9. ___________ D_E_ ~ _C_ ~ _l_P_ I _l_ Q ~ ___________ ~ _ _Y __ '/: _ _{_ ________ Q}Y_ _ 

#01 
:102 
#04 

4 #05 
5 ~07 
6 #07 
7 #07 
8 #07 
9 :107 

10 #07 
II #07 
12 #01 
13 #07 
14 ;109 
15 #09 
16 ;109 
17 #03 
18 #03 
19 #03 
20 
21 
22 #03 
23 #03 
24 #09 
25 #09 
26 #07 
27 #07 
28 #08 
29 #08 
30 #08 
31 #08 
32 #08 
33 #08 
34 #08 
35 #08 
36 #08 
37 #08 
38 #08 
39 #08 
40 #08 
41 #08 
42 #08 
43 #02 
44 #08 
45 #09 
46 #09 
47 #08 
48 #08 
49 #03 
50 #07 
51 #07 
52 #04 
53 #05 
54 #06 

JUKI CORPORATION 

GAE-09000CAO DETECTING DEVICE KIT C 
GAE-09000DAO DETECTING DEVICE KIT D 
GAE-09000EAO DETECTING DEVICE KITE 
GAE-09000FAO DETECTING DEVICE KIT F 
SM-486080!-SC SCREW M2. 6 L=8 
BT 0400251 EB URETHANE HOSE, BLACK 
SM-6031002-TP HEXAGONAL BOLT M3 X I 0 
WP-0430800-SC WASHER M4 
BT-040025!-EB URETHANE HOSE, BLACK 
GAE-10117000 FIBER ADAPTER A 
GAE- IOI 18000 FIBER ADAPTER B 
GAE-101050AO SENSOR AMPLIFIER A ASM. 
SM-4030501-SC SCREW M3XO. 5 L=5 
GAE-09009000 AMPLIFIER FITTING PLATE 
GAE-l 00080AO SOLENOID VALVE ASM. 
SM 403200! SC SCREW M3XO. 5 L 20 
D6029-555-BOA NYLON PLUG 6P 
GAE-101020AO CABLE ASM. 
GAE-101000AO DETECTING BOARD COMPL. 
GAE-101010AO DETECT! NG BOARD ASM. 
GAE 10!080AO BUZZER ASM. 
SK-348250! -SE WOOD SCREW D=4. 8 L=25 
GAE- !01030AO DETECTING SWITCH ASM. 
GAE-10104000 SWITCH! BRACKET 
EA-9500B00-00 CLIP CV-70S 
GAE-10116000 F CUTTER 
GAE-0900IOAO ALUM! BOBBIN ASI!. 
GAE-090010AO ALUM! BOBBIN ASN. 
GAE-090050AO SENSOR FOTTI NG BASE ASM. 
GAE-!0107000 FIBER SENSOR 
SM-486080! SC SCREW M2. 6 L-8 
BT-040025!-EB URETHANE HOSE, BLACK 
BT-0400251-EB URETHANE HOSE, BLACK 
SM-6031002-TP HEXAGONAL BOLT M3 X 10 
WP-0430800-SC WASHER M4 
GAE-10! !7000 FIBER ADAPTER A 
GAE-10118000 FIBER ADAPTER B 
BT-0400251-EB URETHANE HOSE, BLACK 
BT-040025!-EB URETHANE HOSE, BLACK 
PJ-3080400-02 QUICK COUPLING 
BT-0400251 EB URETHANE HOSE, BLACK 
SM-403120!-SC SCREW M3 X 12 
GAE-101060AO SENSOR AMPLIFIER B ASM. 
GAE-10! 16000 F CUTTER 
107-6!906 TUBE SUPPORT (RIGHT) 
SL-403069!-SC SCREW M3X6 
107-62003 TUBE SUPPORT (LEFT) 
SL-4030691-SC SCREW M3X6 
HK-0045900-0A 6-POLE NYLON PLUG COVER 
GAE-090050AO SENSOR FITTING BASE ASM. 
GAE-10107000 FIBER SENSOR 
GAE-0901 IOAO SENSOR AMPLIFIER C ASM. 
GAE-090110BO SENSOR AMPLIFIER D ASM. 
GAE-090!00AO DETECTING SWITCH B ASM. 

NOTE CiHc) #01 .... FOR BOBBIN THREAD REMAINING 
AMOUNT DETECT! NG KIT C 

#02 .... FOR BOBBIN THREAD REMAINING 
AMOUNT DETECTING KIT D 

#03 .... FOR BOBBIN THREAD REMAINING 
AMOUNT DETECTING KIT C,D 

#04 .... FOR BOBBIN THREAD REMAINING 
AMOUNT DETECT! NG KIT E 

#05 .... FOR BOBBIN THREAD REMAINING 
AMOUNT DETECT! NG KIT F 

#06 .... FOR BOBBIN THREAD REMAINING 
AMOUNT DETECT! NG KIT E, F 

#07 .... FOR BOBBIN THREAD REMAINING 
AMOUNT DETECT! NG KIT C, E 

#08 .... FOR BOBBIN THREAD REMAINING 
AMOUNT DETECTING KIT D,F 

#09 .... COMMON TO BOBBIN THREAD 
REMAINING AMOUNT DETECTING 
KIT C,D,E,F 

JUKI~*V:~U 

C!5~~ \>j(/9), ~~IHSI!I~ 
To order or for further 
information, 
please contact : 

Y91~t·Y93?1Yf~y~C 
Y~1~t-Y93?1Yf~J~D 
J91~t-Y93?1Yf~J~E I 
J~1~t-Y93?1Yf~J~F I 
J'' J~Y M2. 6 L=8 ( 2) 
?~~Yt-A !JD (I. 7) 
D1iJ!llf;J;' H M3XO. 5 L= I 0 (l) 
t'OW iJ• ~ Jl!' 9'111 M4 (l) 
?~~Y;J;- A !JD (I. 7) 
771~' -H· T 9A (l) 
771~' -7~' T 9B (l) 
tYtlYT A !7<. (l) 
J". J~Y M3XO. 5 L=5 (4) 
lYT HY'r1~ (!) 
:r· yy J\. y j~ (l) 
f'' J~Y M3 L 20 (2) 
6P f1DYT '7!7' (1) 
'JYH~· YJ-~' !7~ (1) 
'JYH~· Y 1?!7~ (l) 
'TYH~· Y !7~ (!) 
7' ,. !7<. 1) 
'IIH!l~Y D=4.8 L=25 (2) 
1YfA1Jf !7~ (l) 
A1JH9111~ (!) 
'111!7~' y~· 60 (lO) 
I7iJ1~ (1) 
1~u· t· YO~l ( 2) 
l~U' t' YO~) (4) 
tYH97H.10.i.) (2) 
771~'-tYt (2) 
f'' J~Y M2. 6 L-8 (4) 
?~~y;J;-A !JD (I. 7) 
?~~Y;J;- A !JD (I. 7) 
D1iJ!llf;J;' H M3XO. 5 L= 10 (2) 
t'W il' ~ Jil' ~'111 M4 (2) 
771~- H·T9A (2) 
771~' -H· T ~B (2) 
?~~Y;j;- A !JD (0.45) 
?~~Y;j;- A !JD ( 0. 23) 
?Y~1f1~'7 (l) 
?~~Y;J; A !JD (I. 7) 
f''J~Y M3X0.5 L=12 (4) 
tYt7YT B{!l<.) (l) 
I7iJY~- (2) 
f~?-THI(~~·) (!) 
J'' J~Y tAA M3XO. 5 L-6 (l) 
h?-T,I(t9•9) (l) 
J'' J~Y tAA M3XO. 5 L=6 (!) 
T ''Jr iJ~' - 6P !JD (l) 

tYt~9719'1(!7~) (l) 
771~- tYt (l) 

tYt7YT C !7<. (l) 
tYFYT D !7<. (l) 

1YfA1JfB !7<. (1) 

Ti'MH!:~'m'f"Y 1--CJll 

HM~Jil:~'m'f"Y 1--D!ll 

Ti'M~:li~ffi'f"Y 1--C,D!ll 

Ti'i<~:!li;~J;n'f·y 1--E!ll 

Ti'i<~ii-~J;n'f·y 1--F!ll 

Ti'i<~Ji~J;n'f"Y 1--E,F)lj 

T i'i<~:ll!:~%1 'f 'Y !-- C, E)lj 

Ti'i<~:!i~'m'f"Y 1--D,F)ll 

Ti'i<~Ji~'ijl'f·y 1--C,D,E,F~iili 

..l.Thn ,.,...,_..,,..,..,;,...+;...,.,... ,.....,,,,..... .. .-.....! ;,.., ... ~.-..: ................... 1: ....... : .......... l..: ........ .~o .1. .... -'----- -'--. ·-· 




